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Just as by slaughtering where his actions were effective

OVERVIEW

SIY9R ' maintains that the 211 of 'm '7 for 1911 213 is only if the 77°9» was done
after the 0°%y2 N>, He drives it by comparing it to 7m°av, that just as by r°2v, the
actions of the 213 (slaughtering the cow) accomplished something, so too the
selling of the cow must also accomplish something; however if there was no WX,
the 77°27 did not accomplish anything. n1901n discusses the meaning of Wy 17X,

- DOYYA MY PIONY YAWN PUIN 1INT NNP MPYT YN 229 9207 YHYUN
It seems that X''9 maintains that "> is 739 (even without ¥IX°), for Pwwn 1IN

(b il i’JU) means that it was removed from the possession of the owners -
y P
- 27959127 WP 19ANT NIIT

similar to the Yww» 1178 of 77995 that together with the wIX> the 771 is effective to make
the sale valid and remove it from the 2°9v2 M1 to the P2 NMwA.

nooIN asks:
= (x50 97) NP P92 YI9IDT 9ONN 12 ININY 13929 WIV9Y NUP)

And this presents a difficulty to the explanation of the 2'"2w9, who explained in

the first pap -
= 19199 290D 1PNV ITYIN 229 9N NDIY 9MINT NN

Regarding this which X7 said in the name of X9, ‘we assess for a thief and a

robber’, the 0"awA explained -
- %5135 191 1Y 239 RYT DIVN 5137 N1 19223 NN PIYY 139971

' This MmooIn is referencing the X713 on the 'a Tmy.
* We are discussing whether the 771°3% can take place even before the wX> (where it is not effective) to be 27 for 7
"M, or must the 77°n take place only after wIX* (where it is effective) to be '™ '7 2. X"7 says that it must take place
after WX for only then is 77°57 similar to nr°av (which is written next to it in the 770), that just as by 7r°2v there is
WY AR, similarly by 77907 it must also be 1"wyn AR, This (seemingly) indicates that 1"wyn AR by 720 means
that 71 "W and it leaves the o°%va mwA, for if "W is not 1P, and it still remains in the @°>¥2 N, how can we
derive that 717" must be after WIX* (where it is 713P), since we see by nr°av that there is a 'm '7 21’1 even though it
did not leave the 2°9v2 MW and the 233 is not 73Ip.
3 Let us assume he stole an animal worth a hundred 11, and then it died. At the moment of death the carcass was
worth sixty 17. The carcass reverts back to the owner, meaning that the 1713 owes him forty 117. However by time the
owner accessed the 77°21 it was worth only forty 117, the 1713 still pays only forty 17 and the 7131 must suffer the loss of
these twenty T11.
* Had the 1o acquired the 7221 through @, then he pays the 911 the entire hundred i and any subsequent
decrease in value if the 79°21 is the loss of the 17213, since he acquired the 77°21.
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That the assessment is in regards to the decreased value of the carcass; that loss
in value is suffered by the victim, because the 1713 does not acquire the carcass

through the change that happened to the animal by dying. This is in contradiction to our
X723 here where X' maintains 71 M.

MooIN answers:
= HNAN NNNY I 2P NI D152 NYIY 191N PRY MW XDITT 99D U

And one can say; that X"1 maintains “1°¥ is not 57279, only by a 1w which the 3713

does not make with his own hands, for instance where the animal died on its own -
- 5539 9TPHN 229 NN NNV 1 DY152 JI1AN AVIYY MY Yax

However, X' agrees that a "1 which the 7213 makes with his own hands, for
instance 2w, is TP,

nooIn offers an alternate solution:
- 711’5 27 INDY 61:’59211 13 NYTNNY 12D NNIVT PYWYN 1IN 29I N

Or you may also say; that Y@y 178 by 7m°2v means that through 71°20 he makes
the owners lose the cow, but it does not mean that the 213 acquires it -

111999127 PYYN NN M KD
So 72T Pwyn 110K is not the same like 92w 1R of 7905,

SUMMARY
X"9 can maintains the 0°7°2 "W is 7137, but not X2 »1n7 MW, or he can maintains
that "1°w is never 731p.

THINKING IT OVER
1. What are the relative advantages of each of m»o1n answers?

2. Why should there be a difference between 0°7°2 "W and X717 "W regarding
PIp?°

> In this answer (as opposed to the upcoming answer) Moo agrees with his original premise that Pwy» 137X by 720
means that (it leaves 0°7v2 w1 and) the 213 is 7239 (just as PWy» IR by 77°01 means the Y7 is Ap).
® Once it is slaughtered the owners can never have their live cow back (even if they own the carcass).
7 In this answer n9oIN rejects his original premise that 20T PWYH 13K means he is 711, just as 77707 PWYR WK
See footnote # 2. However, now NN maintains that the comparison between 1°2v and 77°O7 is not regarding the
rule of 11p, but rather a more practical comparison. By nr"av the owner can never regain his live animal (regardless
who owns it), therefore by 77°2 the owner must also not be able to regain his animal, and that can be only if there is
a (M1 ") wiRe, where the np1? acquires it and the owner cannot retrieve it..
8 See Tmbni *wIon XN (on 2,M0) # 60.
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